. VCE & PDF https://www.pass4itsure.com/1z0-934.html
g 2024 Latest passditsure 120-934 PDF and VCE dumps Download

PassditSure.com

170-9349%As

Oracle Cloud Platform Application Integration 2018 Associate

Pass Oracle 1Z20-934 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/1z0-934.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

After Purchase
Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

170-934 VCE Dumps | 1Z20-934 Practice Test | 120-934 Study Guide 1/3


https://www.pass4itsure.com/1z0-934.html
https://www.pass4itsure.com/1z0-934.html
https://www.pass4itsure.com/1z0-934.html

VCE & PDF https://www.pass4itsure.com/1z0-934.html
a 2024 Latest passditsure 120-934 PDF and VCE dumps Download

— PassditSure.com

QUESTION 1

Which three Service-Oriented Architecture Cloud Service (SOA CS) Components can route a message to an end
point?

A. Oracle Mediator

B. Oracle Business Rules

C. Oracle BPEL Process Manager
D. Oracle Service Bus

Correct Answer: ABC

QUESTION 2

What are the three threshold values for Database space?
A. Quiesced Mode Threshold

B. Un-Quiesce Threshold

C. Warning Threshold

D. Error Threshold

Correct Answer: ABC

Reference: https://docs.oracle.com/en/cloud/paas/integration-cloud/integrations-user/purging-andretaining-data-
database-oic.html

QUESTION 3

Which two statements about lookup are correct?

A. Create a lookup to map values between application.

B. Lookups are deployed as part of integration activation.

C. Changes made to lookups already used in active integrations take effect immediately.
D. You cannot clone a copy of an existing lookup.

Correct Answer: AC

Reference: https://docs.oracle.com/en/cloud/paas/integration-cloud-
service/icsug/managinglookups.html#GUID-084B7E40-542A-4CDD-A1B0-282B1DAD026C
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QUESTION 4

Which APIs does Oracle Internet of Things (IoT) Cloud Service use to perform an analysis?
A. Native Spark Java APIs

B. SQL Queries

C. JavaScript APIs

D. Big Data APIs

Correct Answer: A

Reference: https://docs.oracle.com/en/cloud/paas/iot-cloud/iotgs/analytics-oracle-iot-cloud-service.html

QUESTION 5

Which two statements correctly define the use cases for Business Process Execution Language (BPEL) vs. Business
Process Modeling Notation (BPMN) vs. Enterprise Service Bus (ESB)?

A. Decision Model and Notation (DMN) replaces BPMN in modern Cloud Architectures.

B. All are part of a typical/traditional on-premise enterprise integration strategy and can also be an important part of a
hybrid on-premises/Cloud architecture.

C. BPEL is inherently better than BPMN in managing orchestrations that involve people, because BPEL can also
interact with systems.

D. An ESB is used primarily for stateless messages and service mediation. The ESB construct is being replaced by
API\'s and API Gateways in modern Cloud architectures.

E. BPEL and ESB are both good technologies for doing heavy transformation of data before sending the data to a back-
end system or database.

Correct Answer: DE
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